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1) Add 1 Arcos, 3 SB15, 1 

SB11, 3 SB15 and pass 
through the 3rd hole of 
Arcos.  

 

2)  Add 1 SB11 and repeat 

step 1. 

 

3) Make 4 elements 

alternating steps 1 and 2.  

Pass through the 1st Arcos + 3 

SB15 and exit out to the top 

SB11. 

   
4)  Pick up 1 SB15, 1 SB8, 1 
SB15, pass again through the 
SB 11 to make a loop and 
then pass through the next 3 
SB15. 

5) Pick up 1 SB11, 1 CP4, 1 
SB11, pass through the 3 
SB15 from the next element 
and exit out to the top SB11. 

6)  Pick up 3 SB15 and pass 

again through the SB 11 to 

make a loop.  

Materials for a 95 cm necklace (6 
elements):  

 24 Arcos® par Puca®  

 24 Minos® par Puca® 

 6 SW Crystal Pearls 3mm 
(CP3) 

 24 SW Crystal Pearls 4mm 
(CP4) 

 100 SW Crystal Pearls 6mm 
(CP6) 

 Seed Beads 15/0 (SB15) 

 Seed Beads 11/0 (R11) 

 Seed Beads 8/0 (R8) 

 1 clasp (optional)  

 Jump rings 4 mm 

 Fireline 0.12 
 



   
7) Repeat the following 
sequence of steps: 
5+4+5+6+5, then pass again 
through all the beads to 
strengthen and exit through 
the SB11 (between 2 Arcos). 
As you see in the picture, SB8 
are placed in opposite sides, 
up and down. 

8)  Add 1 SB15, 1 Minos, 1 

SB15 and pass through the 

next SB11.  

9) Repeat step 8 three more 

times and exit through the 

Minos.   

 

   
13) Pass again to the last CP6, 
then through all the beads 
and exit through the first CP 
added. 

 14) Repeating the sequences 

of the steps 12, add 11 CP6 

and SB15. Then add 1 SB15, 1 

SB8, 1 SB15. 

15) Pass again through the last 

CP6, then through all the 

beads.  
 

 

   
10) Add 1 SB11 between each 
Minos and exit through SB11. 

11) Add 1 CP3 and pass 

through the opposite SB11.  

Now you can tight a knot. You 

finished the 1st element. 

Repeat step 1 to 11 to make 

another 5 elements.  

12) Now we will make the 

chain of the necklace. String 1 

CP6, 1 SB15, CP6, 1 SB15, 1 

CP6, 1 SB15, CP6, 1 SB15, 1 

SB8, 1 SB15. 

 



 

   
16) You can tight a knot 
(without tightening too 
much) and pass again 
through all the beads to 
strengthen. Make a total of 6 
chains with 15 CP6 like in step 
12 to step 16 and 1 chain only 
with 10 CP6.  

17) To attach the 6 previous 

elements, add the jump rings 

between SB8 of each 2 

elements.  

You must have now a total of 

6 elements and 7 chains.   

18) Now you can add the 

clasp.  Congratulations! You 

have done the “Pauline” 

necklace. 

 

 
 
 
 
 

Happy beading! 
Thank you for respecting my work. 
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